
 

 

 

2023-2024 

METHOD OF COMPUTING THE PER DAY USAGE OF LIBRARY 

 

PERCENTAGE PER DAY USAGE OF LIBRARY BY TEACHERS AND STUDENTS (CURRENT YEAR DATA) 

 
S.NO. 

ACADEMIC 
YEAR 

NO.OF USERS IN LIBRARY ACCESS  
(INCLUDES BOOKS ISSUE, 

REFERENCE,  
READING, LIBRARY HOUR & 

OTHERS) 

NO.OF USERS IN 
INTERNET ACCESS 

(E- ACCESS) 

AVAREGE USERS PER 
DAY 

1 2023- 2024 24829 2072 
149.45 
 

 

Number of physical users accessing the library 

S.No. Academic  year No.of Physical users  Average Users Per 
day 

1 2023 - 2024 24829 137.94 
 

Number of users using the library through  e- access 

S.No. Academic  year No. of users access through 
computing ( Internet & e-resources) 

Average Users Per 
day 

1 2023 - 2024 2072 11.51 
 

HEI is requested to calculate the teachers’ and students’ usage of library per day. 

Average = Total number of teachers and students on every working day for all working days  

                     ---------------------------------------------------------------------------------------------------------- 

                                                                Total number of working days 
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Method of computing the per day usage of library 

S.No. Academic  
year 

No. of users in library 
access (Includes Books 
issue, Book reference, 
Journal Reference, Library 
hour & Others 

No.of users in 
Internet access  
(E-Access) 

Total no. of 
users 

Average Users 
per day 

1 2023 - 2024 24829 2072 26901 149.45 

 

Total number of teachers and students on every working day for all working days = Physical user + Internet user  

                                                                                                                                                          = 24829 + 2072  

                     = 26901 

                                                                                               Total no. of working days    = 180 (Two semester) 

                                                                                                                                                 26901 / 180  

                                 = 149.45 

 

 


